





)

C )
H23 | R6 35.0 94.0
A=146.5ha
H26 | R6 6.4 | 48.3
He7 | R7 10.9 | 14.7
L=2, 114m
W=5.0(6.0)m
H13 | R20 59.0 | 71.5
L=3, 800
V=265, 000m3
V=179, 000m3
1 4 4
1 L=4, 200m
s35 | R20 45.0 | 74.2
6,557m
105, 700m3 84, 500m3
5, 600m2 2 3
17 3




)

C )
S50 | R40 91.5 27.7
3, 750m
155, 000m3 40, 000m3
9 12
H30 | R11 98.0 | 20.5
Ic
2.2
w=7.0 1
W=14.5 2 2
H12 | re 27.4 | 85.8
L=1, 760m
W=6.5(10.5)m
Hee | r7 36.9 | 72.6
L=460m
W=20.0(6.5)m




)

« )
10 H26 | R10 15.3 7.8
km
IC IC
L=1, 340m
W=6.0(10.5)m
11 H9 R8 182.0 49.3
H=39.7m
V=54, 000
12 H26 | R14 422.0 51.7
17.5ha




